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DU AR A divide-and-conquer Y 8RIE SR TAE AR T 2
(A)Kruskal's Algorithm  (B)Binary Search Algorithm  (C)QuickSort Algorithm
(D)Dijkstra's Algorithm  (E)Strassen Algorithm o

B AN S R B T(n) = n+ 1> HIDL R R IERE? (A)T(n) = Q(n?)
(B)T(n) =Q(n%) (C)T(n)=0(n°) (D)T(n)=0 () (E)T(n)=0O(n? -

L E ] IR YRS =] e sy piclaaS ~ PaaSEASaaS - 3% [HPaasta Al fdfH = ?
(A)Platform as a Service (B)Person as a Service (C)Pay as a Service (D)Price as a
Service (E)Player as a Service °

KRR E T Volumn ~ VelocityEdVariety o 555 Volumnis iy 2 fal flis 4 2
(AERHEE - B)ERHEE (C)BERIMA (D) SRPEE (EY&BRERE) -

LU fa13& EsNP-Completey i &E? (A)Spanning Tree Problem  (B)Shortest Path Problem
(C)Hamiltonian Cycle Problem (D) Eulerian Circuit Problem (E)Sorting Problem -

- F#E813.75 FEHAR ez ay a1 a0. a1 azaszaq Hi azaza; ap = (A)1001 (B)1100
(C)1011 (D)1101 (E) 1010 -

T HESRR13.75 FERp ez s ag. arazaszay Hll ajazasas=(A)1101
(B)1100 (C)1011 (D)1001 (E)1010 -

ISOFTERAVHE CREIMIE =R ? (NERE B)FkhEidE (CWHEE
O)HEfE (E)yg#E

DUTRA—7dilihE T FHACEIREAC B IPHEMESS 1% 2 (A)SMTP - (B)TELNET  (C)HTTP
(D)DHCP  (E)FTP -

IR (Queue)(EE BT LAVER » BRMFALEESFHEIERA] 2 (ALt
(B)izi#Ezd  (C)REARL (Deizd (B)ESEEL -
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PR SR TR S IVIER R 2 (A)BITIE S ~ felUEs ~ BSE S  IRIGEH
(BYRHUEHR) ~ SUTIE T ~ fRHUET ~ MSIE T (CfRHUET ~ MSfE T - FRHUER -
HiTieT (D)fEiEs ~ eHGER ~ ST ~ iUEs (BE)EHdEs ~ MiSiES
frigs ~ f=HGEH -

DU BYEEEE= 2 (A)C (B)ava (C)Fortran (D)Pascal (E)LISP o

FARE A Y —4LR22UA% 2 2 (A)Benchmark Program — (B)Application Program
(C)System Program  (D)Monitoring Program  (E)Testing Program -

PUN AR A B i o i B R 2 (A)VMWare  (B) VirtualBox  (C)KVM  (D)Xen
(E)Python -

PUN AR —TEsk s ml B R B URES I SE 248 ? (A)Windows 10 (B)MacOS
(C)WinEdit (D)Ubuntu (E)Open Office -

ST —EET EA PRV PREGC IR 2R Ll Mg AR 2 (A I ARVERI R
il (B)EEFHERVERE - EStEEERS (CFESAERE LR D)X
seidfe T AVE RIS —E L EF A REGE R T B) AR ATREA -

CPU B T MO CHHRIETE ? (ARl (BB (O AT
(D) REHETT  (E)fH =T -

I 0~7 HIEFLA by by by ={EITTHOR » By TEEZIHESEH Y - (HRAEFIFER AR
JA o ECSILTT Ry Do > ST E2% 5 I bs by by bo Sy{A] ? (A)1010  (B)1011 (C)0101
(D)1100 (E)1111 -

st p B q B2 ks L ayay (propositions) - Al p — -q HYEZFEdsEE (A)-q — p
B)-p—>a(C)g — -p(D)-p - -~q(E)-q = -p-

A —E R PR ER VIR HAE 10ns » RIFFARAER fyfo 2 (A)10MHz  (B)100MHz
(C) 1GHz (D)10GHz (E) 100GHz -
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1. FIH 8 fustA =R EHFR ARG AT A -4 -
(A) 34 BAASEE(EFE T £ (sign-and-magnitude) » it 8 {7 7T Afaf ?
(B) (347) i H 1 BVMEF /A (one’s complement) -+ [F 8 {i7 7T Fofaf 7
(C) (34y) #HHH 2 mymsFe o4 (two’s complement) > [t 8 {ir 7T By fa] ?

2. & a By—{Eehnes THRE - FEEE LU -
(A) (2 e[ hnes ?
(B) B /)& nednEEZ=(True Table) -
(©) (2 77)&EH, S FAfMk L # (Boolean Function) -
(D) (2 77)&EH Cout FyARFEELEL (Boolean Function) °
(E) B 77)FRF AND ~ OR ~ NOT f » EHIEREIE -
(F) 3 77)FRA NAND [ » &= EEEL[E -
(G) (2 )sE HlE a Z & heEs RAAT et —EUAIIT 2 FIRHEINARS
(H) (2 7)sE FlE a 2 2 figsl NOT F A A T ifatat—EUAIIT 2 FURHEURIEARS ©
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3. fEac—HEfHS1 a[0] a[1] a[2] a[3].... a[n-1]{E#1F n (B - 55H C F27\aE = BUE s
(pseudocode) 5 LA FRERE X
(A) (6 57)1iE a[0] a[1] a[2] a[3]..... a[n-1]HFEEA o+ i/ N BSITE [ {E EE Fie/NBE
(B) (6 53)1it a[0] a[1] a[2] a[3]..... a[n-1]&y Rer 1] o B0t e ey S8t [ (P PR S T



